Decode the Joke

Negative Twdices

Calculate a value for each of the letters of the alphabet.

A 271 N 172
B 372 (o) 771
-1
C (%) P 1073
D 572 Q 5°1
-3
2 s R | )
—- 3—1
F 1 S 2
3 )
-3
G G) T 112
H 62 U 34
-1
I @ v 1371
] o w _Z
8 (-3)
K (—=5)71 X 772
L 273 Y 773
-3
M (%) ya 10-1
Now decode the joke....
1 1 1 8 1 1 1 1 1 1 1 1
36 | 216 | 2 | 125 25 2 9 | 7 |81 |121 121 | 36 | 216
g | L | L | L] 2 L I N T O 311
2 121 36 3 1000 8 121 2 121
1 2 2 1 1 1 8 1 8 1 1 1 2
36 | 2 | 3 3 | 5 | 81| 2 | 125 216 25| 7 | 7 |121| 3




